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Answer any Three of the following questions.
1 oA A 1R ellott U QL YussWiell awaLddl 539 0.01 usdioll seuR Yo
UR scusttell usturll s3. 14
Carry out analysis of variance from following data and test the null hypothesis at
0.01 significance level.
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The following distribution of score was obtained from college Female and Male on an Stress
Scale. Calculate Biserial Correlation Coefficient from this data and test the null hypothesis.
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Yiicsl (Score) | B (Females) g3hﬂ (Males)
81-90 4 1
71-80 6 3
61-70 7 4
51-60 9 7
41-50 12 10
31-40 8 6
21-30 6 5
11-20 5 2
01-10 3 2

60 40

(P.T.0.)
3. ol At WBAlRA 2R g B - ARs usoiuisell 2@l 5 A ot
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Calculate point biserial coefficient of correlation from the data given bellow and test the
null hypothesis at 0.05 level of significance.
sAlotl YLctisl | [Aatd windisl
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4. oflAell BAl uRell guclla UsUCIYU Ra (b, ¢, ) N 14

Calculate multiple correlation Ra (b, ¢, a) from following data.
rab =0.60, rac=0.55, rad =0.66

O R R R R PP OOOR R K

lMbe = 0.35, Mbd = 0.40, ra=0.30
5. 100 QauelAlell A xet sAEL ua Al 57 UR Uit 4dd HBA (1A oo B. 14
The following are the data obtained by 100 students on Adjustment teat and Anxiety test -
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UM - X
_ 22 3
Adjustment Test — X 0.80
R W -y .
25 4
Anxiety Test - Y

(1) Yoll BUUR X, A Xoll WHUR Y of ofHlel dlRacleotl {500 Qs

Develop equations to predict Xon Yand Y on X.
2 % (Qeuell Mt Yitcdls 15 (X = 15) 8l A Aol deQd Rdl ydis(y)ell

U8l 82

Predict the probable anxiety score(Y) of a student whose adjustment score is 15(X = 15).

3) ¥ (Qauellell Rl Yiidis 12(Y=12) 8l A Aeottdl AeQcd AN YLcdis(x) 3 sA?



What will be the probable adjustment score(X) of a student whose anxiety score is 12 (Y =12)?
(4) ol AojHilct Budell yrgtedell awiddl 53 wejHiet dAlRAL

Calculate the standard error of both estimated values and draw inferences.

6.  %U-A(N=9) el YUB (N=8) &L AS HollellR dcll UR AndalHl WAA Yidisl «(1A
YHIQ B, HrAuYU sAELA GUuAL 531 9ot URsEUllell UsIUR 5A ¥ ol el A
AURUY Al HAA D ¥ Boll HLAY As % D, 14

The recipients obtained Score on a Stress Scale by group-A (N =9) and group-B (N = 8)
are as follows. Using a Median test, examine the null hypothesis that both groups have
been taken from an population whose median are the same.

K U-Actl Ylirdisl
Group-A Scores
%U-B YUlrdisl

Group-B Scores

6|9 (12| 5(12|14|15|17 |18

51(116|19({14|18| 5| 6 | 7

7. 8815 A 10 BlsIullal A0 A Ue 53 A W@AUAL 5L a2l
AHQ oA Yool Yietisl Aoeat. 2w MB Al auaR Miet-(@eoll 3 s:dl L 0.05
Aol seuA 9ot URscUstlell AsQl 531 2ure 5 3 Rl Yidisl uR 2l
@actioll 518 Alels AR Ud B?. 14

8 Boys and 10 Girls were selected randomly. Aptitude test was administered to

them. Scores obtained by them are given bellow. From this data, test null hypothesis
at level of significance 0.05 by Mann-Whitney ‘U’ test and clarify whether there is any
significant effect of gender difference on Achievement score?

olsA (Boys) [19]14|18]13|12] 10| 8 | 5
O\sA (Girls) | 17]20]24]21]15]17|16|11| 9 | 6

8. o{lA WA Ml xR SlNAc-ERRA sUEL iRl 0.0u A scltell seUA Yot
uRscustiell uastaell s2A. 14

Test the null hypothesis by using Kolmogorov-Smirnov test at 0.05 level of significance
from the following data.

(P.T.0.)

Ylidisl lsAA | Bls3l
Scores (Boys) (Girls)




21 ~Z5 2 P
26—30 2 3
3135 10 3
36—-40 12 9
41-45 10 12
46-50 4 17
51 =ho 3 14

([Qewol - 2 (Section - 2) (08 Marks)

ol Aotl Ysllell wallot AL (SLEURL UR)
Answer the following questions (Any Four) 08
1. Adsdtell seual Wl au? (@Quaella (Gru) uedsdiell sau 58l asia. (0.05 / 0.01)
significant levels can be called the most reliable (Higher) level of significance. (0.05 / 0.01)

2. Ralldsuell Wow Ae@ AAeteloll A Avaul B (YU UEA) Ysct ¥ At B. (U3 / W)

The Degree of freedom is the number of observations that are (change the value) free or
independent. (True / False)
3. % uisstauElla s e Gurell UURe] wojilot 531 23 A sl sdal.

a@a / @e-wa@ay)

The statistical test that can predict the population from the sample is called the ___ test.
(Parametric / Non- Parametric)

4. 5S7o{l olRLdRle] Yt 8. (SSr= SX2 =N, SSr = 3X2-C)
The calculation formula for SStis . (SSr= 3X*=N, SS;= 3X2-C)
5. B-3@Qls uscitell et A wu@a el B, (w3 7 vl3)

Biserial Correlation method is a parametric method. (True / False)
6. B-AQs usAciuHl A p=.60 82 A q=.40 L (U3 / W)

In biserial correlation if p = 0.60, than q = .40. (True / False)
7. %UR QA (BHct scll Sles (Bud W) 8l IR You URSsEUstal uells1R B, (W3 / W)

The null hypothesis is reject when the table value is larger than the calculated value. (True / False)

8. SleHLIRA-RARAl 5AZL A As YA@Au s3] B. (W3 / vig)

The Kolmogorov-Smirnov test is a parametric test. (True / False)




